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PART A: Vocabulary
Directions: Questions 76-85 are incomplete sentences. Beneath each sentence you

will see four words or phrases marked (1), (2), (3), and (4). Choose the one word or
phrase that best completes the sentence. Then mark the correct choice on vour
answer sheet.

Th- Some computers have very e instructions.
1) confuse 2) confused 3) confusing 4) confusingly
77-  They needed someone who could be an excellent manager, ——-—— was not easy to find.
1) A person such 2) Such person 3) Such a person 4) A such person
T8 Some of the studies show good resalts, ————- others do not.
1) simee 2) when 3y whether 4y whereas
79 | lost my keys last night. | ——eeve- them at vour house.
1) mught leave  2) should leave 3) should have lefl 4) might have lell
80- How well the crops will grow depends on the quality and —-—--- of the soil.
1) defimition 2) condition 3) conclusion 4) prediction
81- He kept talking to me and 1 conldn®t - him.
1) take part in ~ 2) make up of 3) take away from 4) get away from
82- Are the needs of society more important than the rights of the —---—- T
1) commmunity  2) environment 3) individual 4) audience
83- Doctors that the disease only occurs in women over S0,
1) handled 2) observed 3) referred 4) measured
84 These days the business has got into - difMiculties,
1) financial 2) flexable 3) emotional 4) facal
85 - the museum was not damaged by the earthquake,
1) Terribly 2) Luckily 3) Necessarily 4) Straightly

PART B: Cloze Test

Directions: Questions 86-90 are incomplete sentences, Beneath each sentence you will

see four words or phrases marked (1), (23, (3). and (4). Choose the one word or phrase
that best completes the sentence. Then mark the correct choice on vour answer sheet.

Serious archacological work began later in America than Europe. At first archacologists
(B6) —=veeeme - the great envilizations of the Mayans, Aztecs. on which there are (87) ---- -
articles. In 1911 the American archacologist Dr Hiram Bingham (88) —-e—eee- Machu Picchu, the
“lost oty of the Incas™ in the Andes. Archacologists were surpnised al the size and
s of such cities. Later in the 20™ century advances (90} ------- in the study of much
older American civilizations, such as that of the Olmecs of Mexico which existed from about
100 1o 300 B.C.

B6- 1) concenirated on 2) made up 3) tumed down 4y worrted abouwt
87- 1) excited 2 distant 3) proud 4) separate

88- 1) disiracted 2) trapped 3) discovered 4) raised

89. 1) complexity 2 region 3) posture 4) gesture

M- 1) were making 2} were made 3) have been made 4) made
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PART C: Reading Comprehension
Directions: In this part of the test, vou will read two passages. Each passage is followed

by five questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark the correct choice on your answer sheet.

Passape 1:

Archacology is the name given to one of the sciences through which people can find owm
about their past. It derives from two Greek words which mean *the study of old things™.
Through archacology it is possible to leam about human beings who lived before any history
was written 1o tell us about them. An archacologist looks at the things these people made and
left behind them, and tries to understand from them what the people were like and how they
lived.

Many archaeological discoveries are made by digging up the ground in places where people
are believed to have lived. The remams of their cities are nearly always below the ground,
because when one city was desiroyved a new one was often built on top of it, burying the old one
underneath. Gradually layers of soil and rubbish were piled up over the old remains.

Prehistoric archaeology is the study of human beings before history began to be written. [t is
carried oul by very careful excavation (digging). There may also be traces of the activities of
prehistoric people visible on the ground, such as carthworks and the marks of {illed-in holes.
Something may also be leamed from objects such as flint tools picked up from the surface.

91- Which is the best definition for archacology?
1) It is the wnitten matenials of past events.
2) It is the history of people who lived in Greece.
3) It 1s the science of learming about what people made i the past.
4) It is the science of finding oul about the life of people in the past.

92- The word “derives™ in the first paragraph is closest in meaning to ———.
1) comes 2) explores 3) gets 4) operales

93  According to the passage, archacological discoveries are made by ———,
1) digging up the ground

2) studying the Greek language
3} finding the places where there are old things
4) looking at the things people made in the past
94-  The remains of the citics are always below the ground because -,
1) they were nearly in places where people lived
2} a city destroyed buned the old one under 11
3) when one city was destroved a new eity was buill on 1t
4) lavers of so1l and rubbish moved and covered the remamns of old cities
95-  The pronoun “it™ in the 3 paragraph refers to
1) excavation 2) history 3) study 4) archeology
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Passage 2:

The relation between the science of physics and the practical things that come from it 15 an
interesting subject. Sometimes, the knowledge of the scientific basis for an invenlion comes
after the invention has been made and improved. When James Watl built his steam engine in
1769, nothing was known about how heat was changed into mechanical energy. The great
practical importance of Wait"s engine, however, encouraged scientists to look into this matter,
with the result that the new science of thermodynamics was formed.

After the basie laws of thermodynamics were discovered, greal improvement in the steam
became possible, as such later developments as the steam turbine, the gasoline engine, the diesel
engine, and the jet engine. Most of the greal advances in the understanding of nature and
properties of sound waves came after Edison had imvented the phonograph and Bell had
invented the telephone. As a result, the modem phonograph and telephone are not very much
like the original models. So we see how science leads to new inventions and how these new
mvenhions encourage scientists o explore the bases for them.

9%- According to the passage, sometimes a new device is invented ——.
1) afier it is improved
2) without anvy need for il
3) by someone who has no knowledge
4) when there is not enough scientific basis for il
97- James Watt"s invention of the steam engine encouraged sclentists ————,
1) to improve the steam engine
2} to build trains and airplanes
3) to explore how heal was changed into energy
4) to leam more about the old science of thermodynamics
98- According to the passage, all of the following were affected because of the science of
thermodynamics EXCEPT ——n,
1) the gasoline engine 2) the steam turbine 3) the diesel engine  4) the phonograph
99- Watt"s invention is a good example of .
1) the relation between sciences
2) how the gasoline engine works
3) how new inventions encourage scientific exploration
4) a basic and widely used principle of thermodynamics
100- Edison, Bell and Watt are all mentioned as -,
1) engineers 2) inventors 3) scientists 4) discovers
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